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Cuendled LwemL(hH&SaLb.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@eucilammssmer mrest@ Gflesamens QaremLg).

This question paper contains four sections.

Slfley - I/SECTION - I
(nduGuemser : 15)/(Marks : 15)

@uflede o crer 15 elenmaaERa@L el wWellésab. 15x1=15
Qarhssiul(Herer mrem@ wrHm alel gefled Waa b Fflwmer
devLavwig CasibOsbhds GMUTLHLer el ulmarnyn Cergg
CT(PSaLD.

Answer all the 15 questions.

Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1.  f(x)=x2+5 eraflled, f(—4)=
(1) 26 (<) 21 (@) 20 (F) —20
If f(x)=x2+5, then f(—4)=
(@) 26 (b) 21 () 20 (d) —20

2. @mmmL(Hs Qarir eauflengullen o(HS55HSS eperm o miliL|ger k+2, 4k —6, 3k —2
erafléd, k -eom L

(1) 2 (<=)3 () 4 (FF) 5
If k+2, 4k —6, 3k — 2 are the three consecutive terms of an A.P., then the value of k is :
(@) 2 (b) 3 () 4 d) 5

3. @m Qumsgs Gsrreuflamsuler s Brerg@ o muiysafler CUmEsDHL6T
256, @igpen Curg eNdlgb 4 LOHMD DseT (WPH® 2 ML L5lens eTewT eTafle,
SbsL QUHEES QT euflengufen 3 cug 2 mitiL :

() 8 (@) 7 (@) 5 (%) 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3™ term is :

1 1
(a) 8 I © @ 16
4. 22-2x+7 T@LINS x+4 U aUGHGD Curg faLsEb S
(<=1) 28 (=) 29 (@) 30 () 31
The remainder when x2—2x+7 is divided by x+4 is :
(a) 28 (b) 29 (c) 30 (d) 31

5. x?>—bx+c=0 wHmd ¥?+bx—a=0 Y Hw FwearLrhseier GQUrgeuTar epeLD :

(@) S0 (=) S5 @ (m) 220

The common root of the equations x2—bx+c=0 and x2+bx—a=0 is :

- b b
@ S ) S © S @ =
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(=0 (o 3] @3 @S @ (1]

0
, then the matrix B=
2 —4

10 6 2 -8 -2 8 2
@) [0 1} ® s —1] © [ 1 —7j ) (—1 7]

(=2, 6), (4, 8) %dw yeraflgsener Qanemrs@d CrrCariiyh@s Cam @GS s mean
CrirsCamriigen gmile]

x ()2 (@) -3 (") -3

Slope of the straight line which is perpendicular to the straight line joining the points
(=2, 6) and (4, 8) is equal to :

(1)

CRE © -3 @ -3

@ 5

(2,5), (4, 6), (a, a) Y Hw Yeraflser Cr CrrCsmiged emwdlaner ereafle, a -6
L

(1) -8 (=) 4 (&) —4 () 8
If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :
@ -8 (b) 4 (€© -4 (d) 8

@@ eugeaurss wasCasravmsaier &hmereyser wannGur 24 G185, 18 Gl&.15
Tans. Wsd WsGCasTamsder erm ussd 8 CF.lS erafled, wWHGADTH
WP&CaETETSH T ASNES @R5S LSS

(=) 4 Q&5 (<=4) 3 Qg.15 (@) 9 Q&..8 (/) 6 Q&5

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(@) 4cm (b) 3 cm () 9cm (d) 6cm
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10.

11.

12.

4
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QgmGament AABC-6b £B=90° opmd BDLAC. BD=8 Q&..5, AD=4 Q&..5 erafle,

CD =

(1) 24 Qg8 (<=4) 16 Qg.15

(@) 32 Q&8

() 8 Q&S

AABC is a right angled triangle where ZB=90° and BDLAC. If BD=8 cm, AD=4 cm,

then CD is :

(@ 24 cm (b) 16 cm

uLgdler LABC=

5 100+/3 8

-

100 15

(o) 45° (=) 30°
In the adjoining figure ZABC=

100 m B

(@) 45° (b)  30°

9 tanZ—9 sec20 =

(=1) 1 (=)0
9 tan20 — 9 sec20 =
(@ 1 (b) O

() 32cm

(8) 60°

(d) 8cm

() 50°

(d) 50°
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14.

15.
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100 7 &.Qg.15 cuenerurliy Qararr Carergdlen iy :

(<=1) 25 Q&5 (<=4) 100 Q&8 (@) 5 Q&..8 (/) 10 Q&5
If the surface area of a sphere is 100 w cm?, then its radius is equal to :

(a) 25 cm (b) 100 cm (c) 5cm (d) 10 cm

eurmseiien QsrEly geamer FlLellossn 242 . SiHaydrer eeubleum(m
S 3 e (LmEES FeL @b LHw efleurs Qam@Llien Sl ellovgsib

(=) V12 (=) 442 (&) ev2 () 9v2

Standard deviation of a collection of a data is 2+/2 . If each value is multiplied by 3,
then the standard deviation of the new data is :

(@) 12 b) 42 (©)  6v2 (d) 92

52 & (h&er Qarar g FLHNEs14l(hhg @@ FLB TH&EGLELTS 21ig
Q@(H LSeL (ace) & @O mogyid OMID 6 @rrereuns (king) @)eemoE)ILD
@muugnarer Hlapsse,] :

(@) = (=) 13 @) (%)

A'card is drawn from a pack of 52 cards at random. The probability of getting neither
an ace nor a king card is :

2 11 4 8
@ 13 ® 13 © 13 d 713
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Slfley - II/SECTION - II
(dUCuenTaer : 20) / (Marks : 20)

@Oy = (1)  usg NeamssEnsE el wefléseab. 10x2=20
i) eferm erewr 30 -5@ sewgLUTS Nl wWel&sad. &6
14 lamrgsaflenr @ mng TCosaib 9 clamssmars Csie| GFuiweyLb.
Note : (i) Answer 10 questions.

(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

16. A={1,2,3,4,5}, B={3,4,5,6}, C={5,6,7, 8 erelléd, AUBUC)=(AUB)UC eTeud
ST_(H&.

Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C={5, 6, 7, 8}, show that
AuBuC)=(AuB)uC.

17. &G Qardasliul L oL aleneant engl, A=1{5, 6, 8, 10} -eO\mBg B={19, 15, 9, 11}
-&@ f(x)=2x—1 eTameUTn SeNLhS 6 ML eTefled, a LHMID b <y Hlwieuddler
E LSS STeuTs.

X 5 6 8 10
f(x)| a 11 b 19

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f(x)=2x—1. Find the values of a and b.

x 5 6 8 10
fx)| a 11 b 19

18. -— %, m, — %(m +2) @ Flwear @ umeE@s Qgrr euflenguiiey o reren erafla,

m -6 WSHILSMETE STewTs.

If — ;, m, — %(m + 2) are in G.P., find the values of m.



19.

20.

21.

22.

23.

24.

25.
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B&s pepewll LweatuBsE Sids : 13x +11y =70, 11x + 13y =74.
Solve by elimination method : 13x +11y="70, 11x + 13y =74.

. 6x2 + 9x
F(MHE&HS . — >
OGS 5.2 "oy

. ) 6x2 + 9x
Simplify : m

a;=2i—j eremp 2 MILILGmETS Carenri, euflens 2x2 o eer Sjanfl A=[ay]
-9 HMLESE|LD.

Construct a 2 X2 matrix A= [aij] whose elements are given by aj; =2i—j.

3 2 .. 8§ -1 . . . .
A= (5 J LOmID B = (4 3) erafled, C=2A+B eraiim Sewflenwd SHrenrs.

3 2 8 -1
Let A=[5 J and B=[4 3). Find the matrix C, if C=2A +B.

(=3,5) wHmd (4 —9) Ldw Yeraflsmer Qeamans@n Carl(his giemiqamen
o L Lmiong 1 : 6 erenmm alllgsdle 19MN&@L Leralluler <ifss Qgranae|smars
STE0TS.

Find the coordinates of the point which divides the line segment joining (—3, 5) and
(4, —9) in the ratio 1 : 6 internally.

“'a' -em ervem Wlens WIHLULSEREGW, (0, a) eremm LieTaflser x-o&fla
SDWLBHSHEGD” eTan Fmdilen CUISSEMEnDENW TS,

“The points (0, a), a > 0 lie on x-axis for all a”. Justify the truthness of the statement.

A, B eraruien APQR-6im Lissmiser PQ, PR-safler Goe jenopbg LeTaflser erens.
Gogyd AB||QR, AB =3 @&.15, PB = 2 Q&8 wmmib PR = 6 Q&8 erefled, QR-etr
BersHenens srams.

In APQR, AB||QR. If ABis 3 cm, PBis 2 cm and PR is 6 cm, then find the length of QR.
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26.

27.

28.

29.

30.
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@ Caryrsdar <iquiambg 30v3 S Qsraaeld HHEh e LmTmeuwTart,
S&Caryrsdear 2. &fllewar 30° gHms Coramgdle sramdpmi.
sl L $8emBg Semaw oL bleneols urieeuds Csriign@ o eTer
b 1.5 18 erafley, Caryrsdlen o wrsmss srans.

The angle of elevation of the top of a tower as seen by an observer is 30°. The observer

is at a distance of 30v/3 m from the tower. If the eye level of the observer is 1.5 m above
the ground level, then find the height of the tower.

@ Hamw Cpreul L 2 evaruller Qurgsls Lypliugliny 1540 Qg.08.2 oigen
o WFOTENg iiqliLss < rsangli Cure pren@ LG orafled, 2 (Heneruller
2 ITHMNSS SHTEH0rs.

The total surface area of a solid right circular cylinder is 1540 cm?. If the height is four
times the radius of the base, then find the height of the cylinder.

@ yerafl elleursden B&Am wdHly 12. Sigen eidFa 59 erafler, oiliydrafl
efleursdlen BLGQL@H wHlmUS STes.

The smallest value of a collection of data is 12 and the range is 59. Find the largest
value of the collection of data.

e Errer Brewnubd @re( (e St iLi(hEng.
Epsaramid Hlasfaenssrear Haspsseilaand SramTs.

(i) Qmsme HenL FHeo (i) e LD S gge
In tossing a fair coin twice, find the probability of getting :

(@) Two heads (i) Exactly one tail

(=) e Samns Camergdlen s eTe] 7241;&5.615.& Tafle), SHeT TSNS
. ( 22) .
SIS, | ™= - | erans.

360605
(<=4) x=asech +b tand LOHMILD y=a tand +b sech eTafled, x> —y?=a>—b? eTan Hlmies.

(a)  If the volume of a solid sphere is 7241; cu. cm, then find its radius. (Take ™= %)

OR
(b) If x=a secd+b tand and y=a tand +b sech, then prove that x>—y?>=a’—b>
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Slfley - III/SECTION - III
(dliCueTaEeT : 45) / (Marks : 45)

@Oy = (1) e eumpumeuseic e1CHEID 9 cllanmasEns@ ellenLwalldsalb. 9x5=45

(i) o&Yerm erewr 45 -&@ &SewIgLUTS olevLwWaelssa|b. PHE
14 eNlemssaflell(mBg 8 ellammsssamens Cairey Claliweb.

Note : (i) Answer 9 questions.

31.

32.

33.

34.

(i) Question number 45 is compulsory. Select any 8 questions from the
14 questions.

A={a,bc d e f g xy 2z, B={1,2cd e wpmb C={d, e f, g 2, y} eremns.
A\(BUC)=(A\B) N (A\C) eramieng &iflLm&SHe|LD.

Let A={a,b,c,d, e f, g x,y,z}, B={1,2,c,d, efand C={d, ¢, f, g 2, y}.
Verify A\(BUC)=(A\B) (A\C).

x—3
GT e

A=16,9,15, 18, 21}; B={1, 2, 4,5, 6} wpmid f: A = B erenig f(x) =
cuerTWMGSILL g pLkber FTiy f-enuwt :

(i) bYSEGM UL

i) euflenss Gamggafen seanrbd

(i) <L L euenemr

(iv) eueruLd g dweinmlen eped GMl&ESHe| .

3

Let A=1{6,9, 15,18, 21}; B={1,2, 4,5, 6} and f: A — B be defined by f(x) = X ;

Represent f by :

(i) an arrow diagram
(i) a set of ordered pairs
(i) a table

(iv) a graph

12-22432-42+ . erap Qarfler wpsd 2n 2 mlilseflen gmHsd srewrs.
Find the sum of the first 2n terms of the series 12—22+32—42+ ...

7+774+777 +.... eteyd Qgriflen wpse n 2 miliseiler s SmeTs.
Find the sum of first n terms of the series 7+ 77 +777 + ....

[ Sl / Turn over
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35. syageupm Biiled e Quibdriifler Geousid wanflé@ 15 &.15. erens. LU
BCrriLgdlen Hevguded 30 S..5. gy Qgenm, 9@ rdis Hevsuladr Fmdia
4 wenfl 30 HlBlLmsafled Bewr@d Yoliul L QL sHnE Hmwd eupgsred Biler
Cousgdlenars smewrs.
The speed of a boat in still water is 15 km/hr. It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes. Find the speed of the stream.

36. 160t —24x3+ (a—1)x2+ (b+1)x +49 eTaiIg @ (PP QUTSEHD era@fled, a HMID b
< Flweupdlern wHLILEMeTS SHTens.

Find the values of a and b if 16x*—24x3+ (a—1)x>+ (b+1)x +49 is a perfect square.

5 2 —
37. A= (7 :J LHMID B = ( i ﬂ eraxled, (AB)T=BTAT eremiieng sflumidgsaLb.

5 2 2 -1
If A= (7 3j and B = [ ) J verify that (AB)T=BTAT.

38. (-4, —2), (=3, =5), (3, —2) wOHMD (2, 3) PHW YeTallGemer (paTEHeTTES
QarerL Brosysdlen LFlienLs &rens.

Find the area of the quadrilateral formed by the points (-4, —2), (=3, =5), (3, —2)
and (2, 3).

39. Wgraren Canmsens erpdl bHlemlasEsea] .
State and prove Pythagoras theorem.

40. @@ sLLLgdear Cod em Oargssbub Hindmng. sarulaierer e
Herafludlelpbg Camgssbusdler o 8 LOMIDL A WHweumbdler egHms
Carammiger peppmGu 60° HMID 45° erens. CQID CETqdH SbuSSer o wFb
10 18 erefly, sLLL gHen o WLrSmss srews. (3 =1.732)

A flag post stands on the top of a building. From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 60° and 45° respectively. If the
height of the flag post is 10 m, find the height of the building. (/3 =1.732)



41.

42.

43.

44.

45.
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@m CprallLdé mbller QaLssarLddler QmUDUPL Smbs el L
afeflbysafian anmerajser wpapGu 44 Q&5 wHMD 8.4 m Q&8 erens. ige
2 Wi 14 Qg.15 eraflleh, jcuallenL & sRTLSH6m ST HeTEnEUd SIS

The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 m cm. If the depth
is 14 cm, then find its volume.

sars Cecueals aligel 2 Carad sl iguler Berbd, g wHMID 2 wird wpepGu
44 Q&.15, 21 Q&8 wHmD 12 QF.5. @i Carss sl igwreang o (H&SLILIL{H (b
Hewrind gmburs LrHPLILHEHDG. Fmblear 2 wrb 24 Q& erafld, Fer
Sl lILGsSSlen ML Gdlem oiere STenTs.

The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm

respectively. It is melted and a solid cone is made out of it. If the height of the cone is
24 cm, then find the diameter of its base.

18, 20, 15, 12, 25 eremm afleurmbis@héE LIMUTL(HE Cl&(peneld &Tams.
Find the coefficient of variation of the following data.
18, 20, 15, 12, 25

@@ usaL @muean 2 BLLUuBdpgl. peHoreusns o HLlLiuhbwCurg
@M @QriamliumL aar S S50 g Seuedl 2 Ll 1ps
eraasaflen sn(hHse 8 & Q(HSS® eTanid Flspsfluden Hlapsseileners sremrs.
If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

(=) 3xt+ 623 —12x2=24x wHOMID 4x*+14x°+8x2—8x YHwu vLIMLILSE
Carencusailen LS5.QUIMT.6u sranms.
360605
(=) @m CpraCar® <w SFssmer A wHmD B <pdlu yereaflgafe
Qeul(Bdlermg. AB -ar mHLieTafl (3, 2) erefled, AB -6o1 FoGTUTLGNL &
STEHTS.

(a) Find the GCD of the following polynomials 3x%+6x3—12x2—24x and
4x*+14x3 + 8x% - 8x.

OR

(b) A straight line cuts the coordinate axes at A and B. If the mid point of AB is (3, 2),
then find the equation of AB.

6823
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lfley - IV/SECTION - IV
(ndliQuenraser : 20) / (Marks : 20)

@MY : geuGeur efermelgin o drer @rewsi( wrHm alermésailelHHs
Mameneus Csiboshss B elenmasens@wn ol welssean.  2x10=20

Note : Answer both the questions choosing either of the alternative.

46. (1) 6 Q&5 rp6TeT e UL LD uanThgl AFem enwwddeimhg 10 C&.15
Qsreneelilgerer e Ueatalenwsd @GMss, Liyerafluiedmbs
aul LsHnE CstOCasThser cuarbg g6 Heorhisamer samsdHs.

360605
(<) AB=6 Qg.15, ZABC=70°, BC=5 Q&..5 wpmid ZACD=30° @dw emeydser
Qarewr eul L BrH&rDd ABCD auenys.

(@) Draw the two tangents from a point which is 10 cm away from the centre of a
circle of radius 6 cm. Also, measure the lengths of the tangents.

OR

(b) Construct a cyclic quadrilateral ABCD, given AB=6 cm, ZABC=70°, BC=5 cm
and ZACD=30°.

47. () euenguLLD ppeld SiTds : 2x2+x—6=0.
S|6060F)
(=) xy=20, x, y > 0 GTETLISEN GUMFLILLD cUaNI&H. AFemerll LiwearihidH x=5
erafle, y-er wdlemuubd, y=10 erafld®, x-6r wllmuub sremrs.
(a) Solve graphically 2x>+x—6=0.
OR

(b) Draw the graph of xy=20, x, y > 0. Use the graph to find y when x=5, and to
find x when y=10.

-00o0-



